
� �������	�
���
�������
�
����������������������� ���
�!���#"	���%$��&�'��� ���(�*)	���
�����+�
,.-0/21	35476�89/;:5<+=�>�?9-�@BAC3%6	8D/FE�:7G�-�H0>�:58D=�E�?D:5-I>JE�:LKNMPOQ<R:
S.3T@
?9U
/V-XWZYP[\�]P^%_+`�a(bdc e�f�g�^�hjidk9l�knmpo�q5k
r :5-�>�?nH�/VSsE!t	/TWZYP[vuw89?D-	/#35S#x�t�:54B:5@
/V-	/#:5=�>#x�y2:5-I>�Ez3%-�E.y2:�/2{|y2?D/V-�Ez>!}2~
� �������N�������(�������������������������������p�����	���(�����������

�5� � ~���u�Y��9�!�*}VuR�	}2uw�p}��� �Y7uR�	}2uw�p}&¡Q d¢�uR��}(��£
¤ t	/;?D-	?¥E!?D358&y2:
-�H�?9E�?D:5-�>¦35S�/
� �#"�����§	¨%�5"©���ª�(��«����Q���
��)(��«����&¬|�(�������*«����������

­¯®�­¯° ±z²%® ~³��¢�uR´&}
��µ�¶�·�YTuw�	}2uR´&}¸��£
¹ /;-�:�º�y2:
4B6	=�E�/FE!t	/�>�:58D=�E�?D:5-»=�>�?9-	@LYF¼�WZ½
MP[.~
� �%���%¾������5"©�����I�5���%¿	�d�VÀ ������¬Á� "����	§	¨5�5"�Â�¬2À#�(�����
Â
���

Ã ²�Ä�Å�°�­w²�® ~³�ª¢�uw�p}
�Æµ�Ç�>*?D-&uw�p}��Èµ�Ç�y2:�>VuR��}
É :�ºÊ>*:
4B/sAC,ËO
½+[Ì/#>�:%E�/#S�?nyV3�~&y2:
-�U5/VS�E�E�t	/ËÍdÎ É r ¤ K�W É ¢�u¯1�}+E�:�35-7[
ÏPO¸Ð.[¸¼�Ñ

¼�K�W É E�tI3�EËyV35-ÓÒp/;/VU�3589=�3%E�/ H»35-�HÓ6	89:5E*E!/#H�Ô
E�t	?n>¦?n>.H�:
-	/Fº¦?¥E!tÓE!t	/�y2:
4B4B35-�H»>*=	ÒI>V~
� �5��)��©���Õ��¾�Ö��&�2�5���%¾��p�%�5"¸¬*���*�������

�!×2ØpÙ ~��Æµ Ç�>�?D-&uR��}��Èµ Ç�yV:
>#uR�p}
� )����
�(�z�5��)��
¬*�����
Ú�Ú*Ûd¬|�5�	���%�
Ü�Ý5Þ����
¬����������5��ß%�%����¾��I�%�5"��	�����%"	�Æ�
�����
��à�á�«�ß
�&�

Curve 1
Legend

solution to a 2nd order IVP
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